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Question Paper E

Booklet Code
PART - I : GENERAL ENGLISH
1. You may go now.
This sentence can be used:
(1) to take permission (2) to make an offer
(3) to give permission (4) to make a request
2. Ifeel home is a better place to relax.
The above sentence expresses
(1) Agreement ' (2) Opinion
(3) Prediction (4) Refusal
3. Your friend wishes to meet you but you are engaged with some other work. How do you
express your inability?
(1) By all means " (2) [I’m afraid I cannot make it
(3) You may gonow (4) Iam not your friend
4. IfI were you, I would help you complete the task.
The above sentence comes under:
(1) making a suggestion (2) making a request
(3) making an offer (4) refusing permission
5. Your uncle gave you permission to use his bike.
How do you express your happiness?
(1) Iam very sorry (2) Your bike is awesome!
(3) Itisverydirty (4) TItis so kind of you

6. He received a proportion of his from selling tamarind seeds.
Choose a suitable word that fits in the blank.
(1) wages | (2) income
(3) salary (4) labour

7.  The minister decided to visit the and extend his support.
Choose a suitable hyphenated compound word.
) newly-constructed house (2) pebble-strewn road
(3) well-educated people (4) flood-hit villages
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8.  Aperson who is unpleasant and tries to offend people is a/an
(1) extrovert (2) placid
(3) obnoxious (4) suave

9. Idon’t want to give way for unnecessary matters.
Choose the right meaning of the underlined.

(1) happen (2) allow

(3) think (4) disagree
10. A person with knowledge and reasoning is a/an

(1) expert (2) intellectual

(3) snob (4) literate

11. The judge advised the disputing parties to settle through discussion.
Replace the underlined word with the word that has same meaning.
(1) negotiation (2) rehabilitation
(3) vegetation (4) degradation

12. The greatest work of Satyajit Ray was Apn’s Trilogy.
Replace the underlined word with the word given below with same meaning.

(1) verbatim (2) alma mater
(3) linguafrance (4) magnum opns. -

13. Pick out the word that ended with a suffix.

(1) discontent (2) conviction

(3) bicycle (4) diameter

14. Oh, I call it a double-faced behaviour.

What is the underlined word?
(1) acompound adjective (2) a prepositional phrase

(3) anoun (4) an adjective

15. Father’s face lit up with contentment.
Pick out the right antonym of the underlined word.
(1) satisfaction (2) happiness
(3) displeasure (4) commitment
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16. Asatakenof | Ray agreed to be the co-founder for Chitrahani.
Choose the correct word that fits the context,
(1) friendliness (2) friend
(3) friendly (4) friendship

17. You can certainly do it.

: The word ‘can’ in the above sentences indicates:
(1)  ability (2) inference
(3) compulsion (4) obligation

18.  The film industry is expanding in leaps and bounds.
What kind of expression is the underlined?
(1) compound adjeétive (2) binomial
(3) bilingual (4) compound phrase

19. Many great artists paid their tribute to "Mahanati’, Savitri.
What is the parts of speech of the underlined word.

(1) Verb (2) Preposition
(3) Adjective (4) Noun
20. Pick out a word from the options given below that indicates a positive quality.
(1) stubbomn (2) affable
(3) slovenly (4) sarcastic

21. I quickly sat down on a rock. My father laughed at my plight.
Combine the two sentences using ‘when’. |
(1) When my father laughed, I sat down on a rock.
(2) Iquickly sat down when on a rock, my father laughed.
(3) When I quickly sat down on a rock, my father laughed at my plight.
(4) Isatdown and my father laughed when I am on plight.

22. Choose the alliterative word from the words given below.
(1) tata - (2) teemy-weeny
(3) aye-aye : (4) see-saw
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23.  Rupa describes her feelings poetically. She has the ability to becomea -
Choose a word that best suits the above blank.
(1) .artist - (2) essayist
(3) poet (4) poetess
24. Neelima said, ‘My new job is very interesting’.
~ Change the sentence into Reported Speech.
(1) Neelima said that her new job was very interesting
(2) Neelima says that her new job was very interesting
(3) Neelima said that my new job is very interesting
(4) Neelima told that her new job is very interesting
25. The poet has learnt the ways of the world.
Change into ‘passive voice’.
(1) The ways of the world has learnt the poet.
(2) The ways are learnt by the poet of the world.
(3) The poet has been learnt by the ways of the world.
(4) The ways of the world have been learnt by the poet.
26. It'shightimehe  the project.
Choose the right verb to fill in the blank provided.
(1) submitted (2) submits
(3) will submit ‘ (4) will have submitted
27. Ihave lived in Hyderabad for 10 years.
The verb in the sentence is in:
(1) Simple past tense (2) Present perfect tense
(3) Future tense " (4) Past perfect tense
28. In addition to his regular studies, Rohan picked up a Diploma course.
Replace the underlined word with a phrase that best suits.
(1) Besides (2) inplace of
(3) ahead of (4) inspite of
29. 1took my horse swimming day or two ago.
Fill the blank with a right article.
(1) one | 2) a .
(3) the (4) no article
6-E
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30.

I'was not trained enough for the game.

The word ‘enough’ in the sentence acts as:
(1) adverb (2) adjective
(3) noun (4) conjunction

31.

T'understand your problems; however I can’t help you.

The linker ‘however’ functions as:
(1) Result (2) Indicating addition

(3) Indicating a similarity (4) Contrasts

3L

The time was up but the make up person would not turn up.
Identify the function performed by the modal.

(1) possibility (2) future of the past
(3) compulsion (4) suggestion

33.

Napoleon won the French honors. He died at St. Halena.
Which Relative clause can be used to combine the sentences?
(1) who (2) which (3) that (4) when

34.

Come home early. I want to discuss an important issue.

Combine the sentences using ‘if-clause’

(1) IfIwant to discuss an important issue, I should come home early.

(2) IfIcome home, I shall want to discuss an important issue.

(3) Ifyou come home early. I shall discuss an important issue.

(4) Ifyouhad come home late, I shall not be able to discuss an important issue.

35.

They may feel jealous _your success.

Choose the right preposition and fill the blank.

(1) of ' ' (2) about
(3) on (4) at

36.

Which writing activity among the following expresses your emotions?

* (1) anadvertisement (2) anessay

(3) anewsreport (4) adiary entry

37.

In which letter among the following, a subject of the topic not necessary?

(1) Letter to the Health Inspector (2) Job-letter
(3) Personal letter (4) Formal letter

V-General English 7-E
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38. Signature is a necessary element for:
(1) A.formal letter (2) Non-formal letter
(3) Diary Entry (4) Alltheabove
39. When two or more persons involve in expression of thoughts, it is:
(1) aconversation (2) adescription |
(3) aletter (4) note-making
40. How do we end the script for speech?
(1) Greetings to everybody
(2) Hello everybody!
(3) Thanks for this precious opportunity -
(4) Nice occasion
41. Every poem you read has one important element among the following.
(1) Theme
(2) Punctuation
(3) Structure of grammar
(4) More than two stanzas
42. Pick out the short form of ‘will not” :
(1) will’nt (2) won't
(3) wouldn’t (4) shan’t
43. Choose the correct spelling of the word.
(1) govemance : (2) govemnence
(3) govemnce (4) govarmance
44. Write the noun form of ‘prefer’ from the following options.
(1) preferable (2) preferred
(3) preference (4) preferation
45. Choose the right word for the following sentence in possessive form.
“The shirt belongs to Charan’, (= e
(1) Charan’s shirt - (2) it'sshirt '
(3) shirtof Charan (4) he’s shirt

V-General English 8-E
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(46-50) Read the following passage and choose the correct answers to the questions that follow:

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping
drowning sailors have been common since Roman times. The more we learn about dolphins,
the more we realize that their society is more complex than people previously imagined. They
look after other dolphins when they are ill, care for pregnant mothers and protect the weakest
in the community, as we do.

Some scientists have suggested that dolphins have a language but it is much more probable
that they communicate with each other without needing words. Could any of these mammals
be more intelligent than man? Certainly the most common argument in favour of man’s
superiority over them that we can kill them more easily than they can kill us is the least
satisfactory. On the contrary, the more we discover about these remarkable creatures, the less

we appear superior when we destroy them.
46. What is common about Dolphins?
(1) They were found since Roman age
(2) They saved humans
(3) They killed the sailors
(4) They are the largest ones on land

47. According to the passage, the community of dolphins is:
(1) complicated (2) simple
(3) friendly (4) big

48. How are dolphins similar to men?
(1) They have two legs like men
(2) They can speak like man
(3) They are caring and compassionate to their community
(4) They are very complex creatures

49. Dolphins communicate with each other

(1) without talking (2) by babble of words

(3) by making friendship (4) by intelligent means
50. Man'’s superiority over Dolphins is:

(1) remarkable (2) excellent

(3) extraordinary (4) degrading

V-General English " 9.E
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PART - II : MATHEMATICS

If the LCM of ‘a’ and 18 is 36 and HCF of ‘a’ and 18 is 2 then a =

=a ._.J-‘__,‘¢2 r-'-C(HCM)K18/5"0’/5’36f-'-5(LCM)(18}”‘a’ﬁ S
(1 18 2) 2
@) 4 @) 36
52.  log,— +log, 21 —
s 52
1 1 2 0
2 .
@ 3 @ -l
53. L.CMoflog,8, 10g216 is
(3¢ log, 1651 log)8 .53
(1 12 2) 8
3) 3 “4) 4
- 54.  If2log,x =6, then the relation between x and y is
:ﬁ/u,t{wﬁ yslx F2log,x=6 /';l 54
1 x=y , 2) x¥=y
3) xX=y 4) =x=)3
55. Ifn(A)=12,n(B)=15, then minimum number of elements present in 4\ B is
JU’.’.L{L‘)K/’(IC—ﬂ}?”Ut AUB <“n(B) = 15.,In(A) = 12)1 .55
(1 12 @ 3
3) 27 @) 15
56. IfdcB, then (AUB)-(4NB) =
= (4UB)-(4NB) “4cp Si 56
(1) B-A 2) A-B
- (3) A 4 B
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57. IfA={x:x eNxisa factor of 30}, B= {x : x is a prime factor of 30}then Venn
diagram of AU B is
TB={x:1cxdAZML30} M A= {x:xeNe x §H7LIK30 }ﬁ 57
(Venn Diagrame)‘,}‘/j 04 3§ 4UB
1) @ @ e.
— A .U ~ 18 U
_ 6 6.
A3) 10 (O 10
15 | 5]
30 30
58. Observe the glven rectangle, then its area in polynomial function is
-éflbu" (polynomial function) lvd/ /Zud:u’ b;fc”: ul/(‘)’h/ Jie” 58
1=%
x%+2
(1)  A(x)=x2+5x+14 (2) A(x) =-x*+5x+14
(3)  A(x)=x*+5x-14 4)  A(x)=-x*-5x+14
59. If one zero of a quadratic polynomial 2x?>+kx-15 is 3, then the other zero is
31 a3 ALK 224152 59

_ 15
m 2 @ =
3) -5 @ -l

V-Maths 11-E
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‘—__________—_—_'__—__—-
2_5x+6, then the value of (a-BP=__

60. Ifo and B are zeroes of the polynomial p(x) = x
(e PLpx)= X2 -5x+6 GALip s A 60
(1 0 @) 1
3 3 4) 6
61. If one zero of the quadratic polynomial ax2+bx+c is 0, then the other zero is
/'"l/»h.z“c‘:.'O'/'*’...g £ ax?+bxtc Lfg/-?( L;'J’”‘"gﬁ 61
—C
O :
a 2) p
_b .
3 -
3 - | @ =
62. For which value of ‘k* will the following pair of linear equations have no solution?
-‘Lu':{f(d/’ﬁd/:,l}l/fdi_f/iﬁzj‘fﬁ/‘k’ .62
3xty=1 :
(2k-1)x + (k-1)y = 2k-1
1 1 2) -1
3 2 4 2
63. The age of Lakshmi is one third the age of her father. If the present age of her father
is 45 years, then the age of Lakshmi after 18 years is years.
ST L I8 e dids fuzrltoe 2 8e LA LSS 6
bl
(1) 21 2 30
(3) 63 4 33
64. The number of solutions to the pair of equations 11x—7y = 6 and 4x+9y = 8 is

AP SLE 7S ax+9y = Bulllx—Ty =6 =bolr 64
2 0 |

1 1
(4) Infinite (($t50)

3) 3

V-Maths , 12-E



Question Paper

E

1 8 @ 32
3 4 4 2

Booklet Code
65.  If the sum of the squares of two consecutive odd numbers is 74, then the smaller
number is . :
Bt In 1AL KU pL sl b (consecutive) J<30 /1 65
QO 1 2 5
B 3 @ 7
66. IfS5x2—kx+ 11 =0 has arootx =3, then k=
=kPx=32K52ke+11=0/1 66
16 -17
(1) 3 (2) 5
56
() = 4).. .15
67. 1If Jx=2x_1 ,thenx=
=XH=/."\/;=\/2X—I /f’ .67
1 -1 @) 0
B¢ 2 “4)
68. Ifa=2,d=8,S,=90,thenn=
=n>S,=90 sMd=8ca=2 /1 68
1 s (2 8
@B 7 “4) 6
69. The nthterm of an AP. is 6n + 2, then sum of first four terms of that A.P. is
— AR LAP U1 6n+2 S K APYAIYL 69
1) 60 2) 68
(B) 54 @) 64
70. Ifa, + a, of a G.P.is 64, then the common ratio is
Sriifed S5 nea 158 0% 8 UHGRYI 22 flN1 - 79

V-Maths 13-E
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71. IntheGP.3 35
2°4'8"™ " —— _
—a, 2 % %, % (GP sy 2kl T
5
(1) 2_,, (2) f'_l
5 2
An 5
3 -l @ k2
72.  How many cubic metres of earth must be dug to make a well 14 m. deep and 4 m. in
diameter?
() 196m> 2 216m’
3) 156m3 (4) 176 m3
A i AT BR sS4 T2
K216 (2) Hoo196 (1)
K176 (@) H 156 (3)

73. A solid metallic cylinder of base radius 3 cm and height 5'cm is melted to make
‘n’ solid cones of height 1 cm and base radius 1 mm. Find the value of ‘»’.

B3 ik o1 SIS 5 e L o5 s B3 T3
| s ISush Fr gt £ bs furl s

(1) 1350 @) 13500

(3) 135 (4) 3500

74.  Find the ratio of volume and surface area of a sphere whose radius is 6 cm.

:»,JJJJL!Z 6/ 6 74

1 23 @ 32
3) 21 4 12
75.  Length, breadth and height of a cuboid are 5 cm, 4 cm and 4 cm respectively. Then
length of its diagonal is cm.
S BnpEHE NN b A SS I TSR N PRI G AL 75
(1) 13 @) 57
@ B . @ ¥

V-Maths 14-E
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76.  The distance between (cosf, sinf) and (sin, — cos0) is
-kaﬁuy/;ﬁ(sine, —cos0) ! (cosO, sinB) .76
1 3 @ 2 3 1 @ 0
77. The vertices of a triangle are A (2, 2), B (-4, —4), C (5, —8). Then the length of
median through C is
JPEB0lsiu e C UIC (5,-8) B (4, -4) A (2, 2) L ol 77
1) Jes 2 7 3) s CYRNTE
78.  The area of a triangle formed by (a, a), (a+1, atl), (at2,a)is
JJKWU’JZ.;.L(a +2,a) »l(atl, atl) «(a,a) .78
ORI @) B 1 Bleed? 4) 2a
79.  The points (k, 2 — 2 k), (1- k, 2 k) and (4 — k, 6 — 2 k) are collinear then k =
1 1
1 —lor - 2 ——orl
(1) or ; 2) > O
(3) -lorl (4) -lor- %
=k U (4-k6-2R) 4 (1-k 28 « (6 2-2K) 6T 79
1 1
1= 2 — -1 1
£ 2 2 5 o )
Skl @ i1 @)
80. InAPQR, A, B and C are midpoints of OR, PR and PQ respectively. If the area of
APQOR is 14.4 cm?, then the area of A4BC is cm?.
S 144 5KAPOR S~ bB 3L PO 1 PR «QRIsZSC 18 B AJSAPOR 80
K Ty /¥ AABC &b v
(1) 72 - 2) 3.6
3) 438 4) 1.6

V-Maths 15-E
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81. Inthe figure 4B = ey
Va =ABU:J¢J)~‘2 81
B
1) 6 2 18
3) 24 . @ 30
8. InABC, XY // BC, AX: XB=2:1, then AAXY : AABC =
= AAXY:AABC > AX:XB=2:1 s XY /| BC ¢ U~ AABC .82
1) 94 2 19
3) 23 4) 49
83. In the given figure, DE // BC and AD : DB = 5:4, then iﬁﬁg =
_ ADEF
_2DE > AD:DB=5:4 4 DE/BC U\ 8
A
D E
F
B C
81 5
1 L1 @ =
% 9
5 25
5 4y B
3 3 4) =
e e
16-E
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84.

In a wall clock, length of minutes hand is 7 cm. Then find the area covered by it in
10 minutes of time.

77
(1) - cm? (2) 154 cm?

154
@) 5 om? @) 77 em?

o A3, L 210 e T UL KL SIS 84

FYr1ss @ s

ST @ VO

85.

A tangent PQ at a point ‘P’ of a circle of radius 5 cm. meets a line through the centre
O at a point Q so that OQ = 12 cm, then PQ = cm.

IS EQ 10 L PQUU e P i oty Bids s i 0 85
Vs -PQr 0Q=/12
1 ¥ 2 - 19

3) 169 @ 13

86.

PQ is a chord of a circle. The tangent XR drawn at X meets PQ at R when produced.

IfXR =12 cm, PQ=xcm, QR =(x-2) cm, thenx=___ cm. .

e g R oot PQ S XRUWSEL X Bl /h-g 570 PQ 86
s =x o QR=/(x2) 4 PQ = FxXR=,121

1 6 @ 7

3) 10 4 14

V-Maths 17-E
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87. Ifcosec 39° = ° l
| p- then the value of — !4 in?39°+tan’51°- sin? 51°.sec? 39°

1S cosec“51°
. 1 Z
JA’J —_— 4 2 G 2 1 4o o — )/'
Too tsIin“39° 4 tan? 510 cosec 39°=p .87
Saseeral sin251°.sec?39° =
1 2_] "
& @ i

88.  IfcosecO + cosec?0 = 1 then the value of (cot!20 — 3cot!99 + 3cot?0 — cot%0) is

M’u( (cot!20 — 3¢ot109 + 3¢otdp — cot%9) -~ cosecO + cosec20 =1 /1 .88
O @ 1 3) 0 @ -2

89. Ifsin21°=§ , then sec 21° —sin 69° is

S g9

= sec 21° —sin 69° Fsin 21° =

N
[\S]
< | %

Y y

(1) x. /yZ_XZ (2) B W

2
x X2

® ORI ]

2
; . 1 .
90. The snnpllﬁed value of (mj 1S

Ly [_;_] %5

secf+tan@
(1)  secO +tanb (2)  sind  cos@
] —cosé ' l-sin@
3 4)
3) 1+cos@ l+sing

V-Maths 18-E
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91.

If two poles of heights x m. and y m. subtend angles of 30° and 60° respectively at
the centre of the line j joining their feet, then x : y is

60° 31 30° e 5 3L 13U s Ur il (poles)ustind_nSk oy sKx 91

: =x:y U bl
1 3:1 2 1:3

3) 1:2 @ 2:1

92,

The length of the string of a kite flying at 50 m. above the ground with the elevation
of 60° IS m.

duJLlﬂ)uL JVJ'/,«J'JK60° Klmﬁ.ﬁdbd.szAJ/SO =i 92
(1) 57.73 Q@ 1732

() 4227 @) 732

93.

Two dice are thrown together. What is the probability that the sum of the number on
the two faces is divided by 4 or 62

f-:d <64 S K1eld_1sd sV b4 (faces) /?ﬂﬁuﬁgu-lfﬂlfj L ufu/g» 93
' e WUBEnes®yi S

m 4 | @

7

35
- 8
- @)

(3) ‘ 18

94.

Find the probability that a leap year selected at random will have 53 sundays?
CULEL_TI91s53 (lead year)JJl/L.;;‘Vg 94

) @

~ \)lu—-
(93]
N
(¥ ]

2
s 4 £
(3) v 4) >

95.

If we toss a coin 2019 times, then the probability of getting at least one head is__

UKL e g1 2019 JE A, o5

' 22019

(1) 2019 2) e
22019 _ 22018
(3) 22019 (4) 220]9

V-Maths . 19-E
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remaining students

(1) 46.67 | Q) 34.05
(3) 445 (4) 4825

Booklet Code
- 96.  If the probability of an event ‘E’ js 60%, then what is the probability of ‘“‘not event
E”?
e YU GEATE 260% (BEESbAT 96
: .
d 2
Mo 3 @ 3
3) 4 1
Q. ONE-
97.  Range of first 10 whole numbers is
|  (Range) =910 & .97
M 9 2) 10
@G 0 . 4 1
98.  Mean of first ‘n’ natural numbers is :
| ket ‘w98
(1) - nn+l) ' (2) n(n-1)
' 2 _ : 2
3 ozt @ nl
2 2
99.  Average of 20 numbers is 17. If 3 is added to each then new mean is
| Lol l s Jogl SG 3 hup /i < 17 boiuno 99
1 77 | (2 40
(3) 37 “4) 20
100. The mean of 30 students is 42. Among them three got zero marks then mean of

¥ Ot - ol Mfe Uil 2 b ¥30 100

V-Maths 20-E
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PART - III : PHYSICAL SCIENCES

101.  The value of latent heat of fusion of ice is
(1) 80 cal/gm (2) 80 cal’/kgm
(3) 540 cal/gm (4) 5480 cal/kgm '
| ) i Latent heat of fusion =34 .101
Fisk s @ 16K 80 )
I IgHM sas0 @) AS16M 540 ()
102. Number of Protons present in Na™ is
e sWfudtsgtNat 102
(1) 23 @) 11 3) 12 @ 10
103.  Which of the following is Dobereiner’s Triad.
. e EHanpdic” 103
(1) Li,S,Ba (2 CaNzK (3) CaBrI (4 S,SeTe
"104. - Bond Energy measured in
(1)  kgm/mol- (2) kgmmol (3) kJmol 4) kJ/mol
gt Sou3Ss 104
Jr ol @ Jrip¥ @)
JriJzl @) Jr J2Z  (3)
105. Teslaisaunitof
(1)  Electric resistance (2)  Magnetic field density
(3)  Induced current (4) Potential difference
. eSS 5o Tesla 105
el ) =ards (1)
2y 4) HJ/.GU (3)

106.

(Atomic masses of Na = 23U,0=16U, H=1U)

(1) 4.48/litres (2) 484litres (3) 44.8 litres ‘(4) 4.84 litres
e F AT T e e/ 6, STP AL s Qi 92 gms o

(UfH=1U« 0= 16U Na=23UU~ (§12)

J 484 () H448 ()
484 (4) Hasg  (3)

The volume of hydrogen liberated when 92 gms of sodium reacts with excess of
water at STP is _.

106
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Q.

107. A bulbmarked as 120 W and 120 V, then the resistance offered by the bulbis
- @Qpi___sberpinip be At e b 120V 120W S bkl 107

(1) 120 @ 240 3) 60 4) 180
108.  The magnification value of g mirror (m) is +1.25 then it forms ______ image.
(1) R?al, Enlarged (2) Real, diminished
(3)  Virtual, enlarged (4)  Virtual, diminished
e JBisd o re +125, 502074 108
o JBd () PRRVEN )
b Joy @) % Jodi (3)
1 : : '
109. CaSQO,, EHZO 1s known as -
(1)  Washing soda - (2) Baking soda
(3)  Plaster of paris (4) Bleaching powder
-uga/ g CaSO,%HZO .109
Brkl W (2) Bréls (1)
Sl @) JESTAE ()

110. CMC (regarding soaps) means
(1)  Central Miscelle Concentration
(2)  Current Miscelle Concentration
(3)  Concentrated Miscelle Concentration
(4)  Critical Miscelle Concentration

. - re (el glb)CMC 110
SIS o RS ()
SRS @ AR 3
111. The education for magnetic force on charge when there is an angle ‘0’ between the
direction of field B and velocity of charge ‘V’ is __ (Qrepresents charge)

e = F:J:L/?J_La;’.u’?bﬂ’é_l;d'_.ﬂ/lo{;l‘.J/,J/“;,.J,,'Lu%,ﬂt&uﬁ "
(g.t‘/ﬁtﬁ;'//gé/,Q 4(_)(52)-:1‘9’,;l)uy/)ﬁ‘V’JBJ(,(Jl',/;lyJ‘B’ulé,or,:bwfw

(1) QVBcos® (2) 'Q-\’;cose 3) QVBsin (4) QY
B
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112. The critical angle of diamond is

(1) Less than 26° (@ More than 28°
(3)  Between 36° to 57° (4) 102°24
i critical angle 6zt 112
wlic-28°  (2) {c_26° (1)
102° 24" (4) Il 57°.436°  (3)
113. Correct form of equation for formation of Sodium Oxide in the following
-‘aJ/.:.-?DjJﬁJfful’fgrﬁ%:ahl/:/udlfcu:d:;'.g/ 113
(1) 2Na?*+ 0% - Na,0 (2) 2Na*+0% - 2Na,0,
(3) 2Na"+0%* - Na,0 (4)  2Na*+0% > 2NaO,
114. Bauxite is ore '
(1) A Halide ' (2)  An Oxide
(3) A Sulphide (4) A Carbonate
_9:4(“{ d/ Bauxite .114
vEST @ ke (1)
UK @) UEE- ()
115. Ethanol is
(1) Farmaldehyde (2)  Ethyle Alcohol
(3) Methyle alcohol (4)  Acetaldehyde
| < 0L ¥ Ethanal 115
Side @ asds )
HSS @) FiSer 3
116. X Mg (OH), +Y H;80, = MgS80, + 2H,0
Then X, Y are respectively :

X Mg (OH), + Y H,80, = MgS0, + 2H,0 =bls 116

Y SR 1S D -

Y@ s @) 2,2
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e .. . uter h
117. Asilicon chip is used in an integrated circuit of a micro EPEEP

mg (mass of chip) then the number of atoms of silicon aré
(Let Atomic mass of silicon is 28 gm)

E|

_//—\

as a mass of 2,80

presented inthechip____

° B e A 117
2.80 mgc&(f'«:—g U6 Silicon Chipsu-‘(I-C-)&[/"‘; ¢ chip)
‘ 2 . , , - ssorcC
~SHINI S sz 2y fochip U4 (2 e
! _,(elKuﬁvf"ng/)
(cé'r,/ZSJL ) 6.022 x 1024
() 6022x108(2) 6022x102@3) 602x10°& ©
e s
118. CH3—(,3—CH2 ~CH-CH,O0H is
CH,
(1) 2,2, dimethyle, 4 Ethyle pentan - al
(2) 2,2, dimethyle, 4 Ethyle pentan - ol
(3) 2 Ethyle, 4, 4 dimethyle pent - 1 - al
(4) 2 Ethyle, 4, 4 dimethyle pent - 1 - ol
CH, C,H;
iy | | .
- 1= CH3—(|3—CH2—CH~CH20H 118
CH,
JowtSe 4 Furdinng )
U ot 4 Sl 2 ()
J-t-wsderdis g e S
sl -1 -%Jw‘jlm, 4 ¢le-t2 (4)
119. g-= A9 s known as law of induction.
Ar
(1) Lenz's (2)  Ampere's
(3)  Faraday's (4)  Oerstead's
-‘Jg“ MKKJL' LY o> 1
£ "’,&L“WK\IIE:% 19
( %“)Ampere's (2) At
i Lenzs (1)
Bl ()
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120. 10 pico meters =

(1) 1018 1
2) 107"'m
() 108y 4) 102cm
| =10 120
K101 () A7 (1)
81012 (4) A 10783 (3)

121. e \
1 ?n ObJCQt of 5' cm tall is placed before a spherical mirror at 20 cm distance. _SO as to
Orm a virtual image of 10 cm tall. Then the focal length of the mirror is '

) 4 -
8 ,—23 22 2421; 320(:[;11
L8 10 S ST Sy 2l 20e 26/ e psld 2 AT 121
L AL Ty e Jp
#E3s &40 )
KE 80 (@) & 20 @)

122. 1If the absolute refractive Index of A, B, C are 1.31, 1.34, 1.44 respectively. Then the
optical density of A, B, C in descending order is
AL LCHB Ad-c 144134 131 S UL LCoB A 122

ne U~ 7U37(Optical density)
(1) C>A>B 2) C>B>A
3) A>B>C | 4. A>C>B
123. Atomic number of mendeleviumis
e 348 2§ Mendelevium 123
(n 11 (2) 24 '
(3) 101 4) 116
124. When sodium Hydroxide reacts with Zn the products are
(1)  Sodium, Zinc Hydroxide (2)  Sodium Zincate, Water
(3) Sodium Zincate, Hydrogen (4)  Sodium Zincoxide, Water
-ugLytJI o bl 3! L}U‘ @Mﬁfuﬂ/g [,(-:ﬁr‘ua 124

| [5& cwdifly () BIBLA Ll (1)
QLT Sy @) Juky cakifsy  (3)
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125. Which of the following has longer wavelength than usable wavelength

(1) UV rays @  Xrays
) yrays (4) Radio rays :
=B b ittt b 125
FEX (@) B ()
U~b*Radio  (4) Sy (3)

126. A, B, C, D are having temperature as follows
e e LASASFLLD #IC B A 126

A B C D
24°C 280K | —4°C | 289K
has more temperature than all the other 3.

cembie QLS e AV

1 A 2 B
3) C @4 D
127. The velocity of light in vacuum is :
(1)  3x108 kmph (2)  3x10%m/s
(3) " 3x10® cmys 4)  3x10% km/s
: - JC’)J&JL}:;U} 127

HER 3108 (2) K308 )
LE1 K 3x108 (4) HERE 3x108 (3)

128. An example for Auto reduction
d%,ﬁJ Auto reduction < %) 128

(1) TiCl,+ 2Mg —2¥E 5 Ti+ MgCl,
2)  TiCl,+ 4Na—"5- Ti+ 4NaCl
(3) 2Cu,0+CuS——6Cu+S0,

@) PbO+C—2€ ;Pb+CO
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125. B and angle of gy, in NH, is
- e kb bz Llend HRh A LS (NHy) T 129
(1) 104° 31' (2) 1070 48
@) 127748 (4 120°
130.  Which of the following can be converted into Anion
(Arrangement of Electrons in each orbit is as follows) .
-ugathIZ:LnJAnionJ;@d’}('Lffc-—U:J..’.w‘/ 130
(Wl e $ud oz fdZr S 5r”)
(1) 2,81 ) 2,82 (3) 2,83 “4) 2,87
131. Coordination number of CI” in NaClis |
1 2 2 3 (3) 6 (4) 0 (zero)
- (coordination number)ss Ul CT A AL iUl 131
3 2 (1)
()0 (@) 6 (3
132. Focal length of human eye lens can accommodate between (Healthy Human)
(1) 2.84cmto 3.04 cm (2) 227cmto2.5cm
(3) 0.02cmto0.2cm (4 2cmtoScm
L M)J (Accommodation of Lens)g}.‘:b JJJ’J; w4 J gl 132
-‘Lanu_\(w
250 227 (2) /3040 284 (1)
562 @) /028,002 (3)
133. The colour of litmus in neutral solution is
(1) Red (2) Blue
(3) Yellow (4)  Purple
< L LIS 133
ko oW
(Purple) byl (4) i (3)
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134. While preparing Ethanol from Ethane the catalyst is :
() F405 o @ N (3) Sunrays (4 H,0 .
-%dﬁd&ﬁf&ﬂq}'ﬁ e dng(Ethanol)Jtw—t;,(Ethene)d:f' 134
H,0 (4) U;;Jd/ L (3) Ni (2) P,0s (1)

135. Which of the-following statement is true
(1) Concave mirror always forms real image
(2)  Concave mirror always forms virtual image
(3)  Convex mirror always froms real image
(4)  Convex mirror always froms virtual image

_%J;uu,l,f.u'/uidf:" 135
et F e (1)
-é,lmf (pJ?dJl_fd‘}:‘Za_/ﬁf‘" )
e e FEsie it (3)
-{.lmd'l bd?d)lfd‘.’ﬁz‘lc/ﬁyﬁ “4)
136. Doctor advised to use 4D lens, then the focal length of the lensis
1 25m 2 25cm (3) 40m 4) 0.04m
K JH U bt ¥l S weaD N 136
K004 .4 K (3) X5 K25 )

137. The intensity of scattered light is maximum at

ey 7y ot cwdEIL9 137

1 o 2) 45° 3) 60° @)  90°
138. In groups the value of increases
(1) Atomic radius (2)  Electron affinity
(3) Ionisation Energy (4)  Electron negativity
. ""-UD‘/'JJJ—— u:‘ﬁ”/ LJU?UJ:J 138
= d’/"ﬁ (2 ﬁ;.._mdd 22 (1)
=0 @) Q619 3)

139. 152 2s% 2p5 3s? 3p% 4s' 3d!?is the electronic configuration of

B e Ui 187 28 208 35 3p6 451 3q10 13

(1) Cr 2) Cu (3) Mn (4)  Zn
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140.  Which detectmg Alcohol in driver's breath intially the colour of Cr0; 18—
83 B @ Yo
uish green (4) Yellow

- “(Jdu”KCr L0392y ) kﬂ-c.bl.u(//ﬂuu?.“JLJ(JJ)J’L’/ 140
wio @) Sk () dl}fi @ i O

141. [iogs pant during hot summer is due to
(1) Condensation (2)  Freezing -
(3)  Boiling (4)  Evaporation
A S Loy 141
WQ) F )
£ @ vz ()

142. A double concave lens with 1.5 as refractive index is kept in air then it's focal

length is

(radii of two surfaces are R, = 60 cm, R, = 120 cm)
(1) -80cm Q) —120 em  (3) . 240cm (4) 180 cm

(Uf R, =120 R —/60/).4»41&)}15,/;.5)s‘ru’dhftbxfm;»uﬂr 1142
L bY1,5US I s

Kz -120 () /fq' -80 (1)
K180 (@) KRG 240 (3)

143. Let the resistance of a human body is 1,00,000 ohms and it has 240 V potential
difference. Then the current passes through the body (i) = .

d,,L_,);,({,.Lu/K24ovai_,m,f;_1 00,000 ohm JI/JKOUL.(éu") _143
~ JJ’ = (i) ud/
(1) 0024A () 000244 (3) 24A 4) 204A

144. If 1 litre water is heated for certam time to rise it's temperature by 4°C: If 4 litres of
. watel' is heated for same time il the same condition then the rise in the temperature

( /J ,u"c—'/ il /4(/ bl 4oC Ut TS| dww_/ J2 L i f S

ML el eyl S

1 1°€ @ 2% ) 3°C @ 4°c

e e
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145. A magician during a show makes a glass lens n = 1.47 disappears in a liquid then the
refractive index of the liquid is

'.L.)/‘.//Qkf:d’l{—gfn =147 lA_JMl{tﬂ/xé_nz_c_,’;?vgfg)l.;UU})L;’vg 145

M USeIJE
(1) 294 2 147 3) 441 4 147
146.  Refractive index of water is 1.0003 is measured in |
(1) ocm 2) m (3) km (4) no units
< e Fedui-e1.0003 L3SUSEILLL 146
KIS (@) KE @) 2o £ O

147. Lens makers formula

-c"_J:gL’a(u;JV/ﬁaqu)/d:J:J' 147

@ f v @ f V u

1 11 1 1
3 — _— — — — ] —_ ——
(3) c=(@ 1)(Rl sz 4) -=® Rz)(l nj

148. The prism with crown angle A (60°) produces an anéle of minimum deviation of
30°. Then the refractive index of material of the prism is

Ko VS T bl iAo Z K 300 ¢ A (60°) L olsKs (T 148

(1) 22 @ 2 ® V5 @ 2
149. In the Rainbow the inner most colour of cone is
(1) Red (2) Blue (3)  Violet 4)  Green
—e by Eait Ol Ko B S BT 4o
xo@ 50 kL @t q

150. n+1value of 4sis

e B8 n+1 L fTas 150
1 1 @ 2 SLEL W 4

WIEW
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